Proje	ct Na	me/CIP#: 610973-100000 Idlewild Drive SSI	& 6902	36-1000	008 Idlewild Drive	· WI . Imn	Bid Date: June	29 2011								
_	ORD#: 1250-2011			20 1000	l laic wha Brive	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		d: Nickolas Savko	& Sons, Inc.							
Ref.	Ref. Item				ENGINEE	R'S ESTIMATE		ivko & Sons		te General	Geo	rge Igel	Elite E	xcavating	John Era	mo & Sons
No.	No.	Description	Qty.	Unit	Price	Amount	Price	Amount	Price	Amount	Price	Amount	Price	Amount	Price	Amount
1 S 2 S	201	Clearing and Grubbing (Total disturbed area)	4,338	LS LF	\$50,000.00	\$50,000.00 \$56,394.00	\$55,750.00	\$55,750.00 \$9,543.60	\$100,000.00 \$5.00	\$100,000.00 \$21,690.00	\$99,000.00 \$11.00	\$99,000.00 \$47,718.00	\$80,000.00 \$5.00	\$80,000.00	\$50,000.00 \$4.00	\$50,000.00 \$17,352.00
3 S		Sewer Pipe Removed Manhole, Catch Basin Removed	25	EA	\$13.00 \$450.00	\$11,250.00	\$2.20 \$326.00	\$8,150.00	\$375.00	\$9,375.00	\$400.00	\$10,000.00	\$150.00	\$21,690.00 \$3,750.00	\$150.00	\$3,750.00
4 S		Manhole, Catch Basin Abandoned	6	EA	\$400.00	\$2,400.00	\$299.00	\$1,794.00	\$250.00	\$1,500.00	\$400.00	\$2,400.00	\$150.00	\$900.00	\$200.00	\$1,200.00
5 S	202	Headwall Removed	7	EA	\$200.00	\$1,400.00	\$303.00	\$2,121.00	\$450.00	\$3,150.00	\$400.00	\$2,800.00	\$100.00	\$700.00	\$225.00	\$1,575.00
6 S	202	Pavement Removed and Disposed of (Asphalt and Concrete)	2,418	SY	\$7.00	\$16,926.00	\$2.50	\$6,045.00	\$8.00	\$19,344.00	\$3.00	\$7,254.00	\$1.00	\$2,418.00	\$2.00	\$4,836.00
7 S	202	Guardrail removed for reuse	170	LF	\$15.00	\$2,550.00	\$3.10	\$527.00	\$7.00	\$1,190.00	\$5.00	\$850.00	\$5.00	\$850.00	\$5.00	\$850.00
8 S 9 S	202	Culverts removed along Martin Grove Ditch Excavation including Embankment Construction	2,499	LS CY	\$15,000.00 \$25.00	\$15,000.00 \$62,475.00	\$16,000.00 \$7.00	\$16,000.00 \$17,493.00	\$15,000.00 \$4.00	\$15,000.00 \$9,996.00	\$7,500.00 \$4.00	\$7,500.00 \$9,996.00	\$2,500.00 \$8.00	\$2,500.00 \$19,992.00	\$10,000.00 \$9.00	\$10,000.00 \$22,491.00
10 S		Excavation for Detention Basin	43,250	CY	\$7.00	\$302,750.00	\$9.50	\$410,875.00	\$7.00	\$302,750.00	\$7.50	\$324,375.00	\$10.00	\$432,500.00	\$10.00	\$432,500.00
11 S	207	Bale Filter Dike	20	EA	\$30.00	\$600.00	\$33.00	\$660.00	\$20.00	\$400.00	\$53.00	\$1,060.00	\$100.00	\$2,000.00	\$115.00	\$2,300.00
12 S	207	Filter Fabric Fence	4,000	LF	\$3.00	\$12,000.00	\$2.10	\$8,400.00	\$1.50	\$6,000.00	\$2.00	\$8,000.00	\$1.50	\$6,000.00	\$3.00	\$12,000.00
13 S	207	Temporary Seeding and Mulching (As Directed)	15,000	SY	\$1.00	\$15,000.00	\$0.40	\$6,000.00	\$0.35	\$5,250.00	\$0.35	\$5,250.00	\$0.35	\$5,250.00	\$0.20	\$3,000.00
14 S	207	Storm Sewer Inlet Protection	180	EA	\$100.00	\$18,000.00	\$78.80	\$14,184.00	\$90.00	\$16,200.00	\$100.00	\$18,000.00	\$50.00	\$9,000.00	\$80.00	\$14,400.00
15 S	207	Temporary Sediment Trap	1	EA	\$4,000.00	\$4,000.00	\$1,820.00	\$1,820.00	\$2,500.00	\$2,500.00	\$1,025.00	\$1,025.00	\$500.00	\$500.00	\$1,500.00	\$1,500.00
16 S	252 252	Driveway Replacement per 2160, Type III A Driveway Replacement per 2160, Type III B	348 44	CY	\$130.00 \$400.00	\$45,240.00 \$17,600.00	\$135.00 \$369.00	\$46,980.00 \$16,236.00	\$165.00 \$450.00	\$57,420.00 \$19,800.00	\$317.00 \$325.00	\$110,316.00 \$14,300.00	\$150.00 \$400.00	\$52,200.00 \$17,600.00	\$78.00 \$310.00	\$27,144.00 \$13,640.00
18 S	252	Driveway Replacement per 2160, Type III C	167	CY	\$60.00	\$10,020.00	\$41.00	\$6,847.00	\$50.00	\$8,350.00	\$40.00	\$6,680.00	\$50.00	\$8,350.00	\$29.00	\$4,843.00
19 S	252	Permanent Pavement Replacement, per 1441, Dr. A,Type I	147	CY	\$340.00	\$49,980.00	\$402.00	\$59,094.00	\$550.00	\$80,850.00	\$755.00	\$110,985.00	\$200.00	\$29,400.00	\$400.00	\$58,800.00
20 S	253	Temporary Pavement Replacement	587	SY	\$20.00	\$11,740.00	\$13.20	\$7,748.40	\$8.00	\$4,696.00	\$17.00	\$9,979.00	\$15.00	\$8,805.00	\$3.00	\$1,761.00
21 S	503	Unclassified Excavation	1	LS	\$10,000.00	\$10,000.00	\$15,910.00	\$15,910.00	\$22,500.00	\$22,500.00	\$50,000.00	\$50,000.00	\$2,000.00	\$2,000.00	\$6,000.00	\$6,000.00
22 S		Type 2 Membrane Waterproofing	300	SY	\$30.00	\$9,000.00	\$16.00	\$4,800.00	\$17.00	\$5,100.00	\$16.00	\$4,800.00	\$20.00	\$6,000.00	\$19.00	\$5,700.00
23 S 24 S		Type 3 Membrane Waterproofing Rock Channel Protection, Type B	250 305	SY CY	\$30.00 \$100.00	\$7,500.00 \$30,500.00	\$26.00 \$61.00	\$6,500.00 \$18,605.00	\$29.00 \$60.00	\$7,250.00 \$18,300.00	\$26.00 \$60.00	\$6,500.00 \$18,300.00	\$25.00 \$50.00	\$6,250.00 \$15,250.00	\$29.00 \$75.00	\$7,250.00 \$22,875.00
24 S	602	Concrete Masonry, as per Sheets 46-50	303	LS	\$50,000.00	\$50,000.00	\$49,770.00	\$49,770.00	\$67,500.00	\$67,500.00	\$45,000.00	\$45,000.00	\$75,000.00	\$15,250.00	\$100,000.00	\$100,000.00
26 S	602	Concrete Masonry, as per Detail A/ Sheet 17	1	LS	\$5,000.00	\$5,000.00	\$1,850.00	\$1,850.00	\$8,000.00	\$8,000.00	\$13,000.00	\$13,000.00	\$5,000.00	\$5,000.00	\$5,100.00	\$5,100.00
27 S	603	8' x 4' Conduit, Precast Box Culvert	75	LF	\$650.00	\$48,750.00	\$700.00	\$52,500.00	\$650.00	\$48,750.00	\$1,000.00	\$75,000.00	\$800.00	\$60,000.00	\$660.00	\$49,500.00
28 S	603	8' x 6' Conduit, Precast Box Culvert	111	LF	\$700.00	\$77,700.00	\$1,100.00	\$122,100.00	\$800.00	\$88,800.00	\$1,300.00	\$144,300.00	\$900.00	\$99,900.00	\$840.00	\$93,240.00
29 S	604	Headwall for 30" Pipe, Cast in Place, per AA-S166	1	EA	\$4,000.00	\$4,000.00	\$1,465.00	\$1,465.00	\$3,250.00	\$3,250.00	\$2,500.00	\$2,500.00	\$3,000.00	\$3,000.00	\$1,640.00	\$1,640.00
30 S	604	Headwall for 24" x 38" HEP, Cast in Place, per AA- S166	2	EA	\$5,000.00	\$10,000.00	\$1,423.00	\$2,846.00	\$3,500.00	\$7,000.00	\$3,000.00	\$6,000.00	\$3,000.00	\$6,000.00	\$1,700.00	\$3,400.00
31 S	604	Headwall for 19" x 30" HEP and 24", Cast in Place, per AA-S166	1	EA	\$4,000.00	\$4,000.00	\$1,324.00	\$1,324.00	\$4,500.00	\$4,500.00	\$3,500.00	\$3,500.00	\$2,800.00	\$2,800.00	\$1,400.00	\$1,400.00
32 S	604	Catch Basin, Standard, per AA-S166	141	EA	\$1,300.00	\$183,300.00	\$1,337.00	\$188,517.00	\$1,250.00	\$176,250.00	\$1,300.00	\$183,300.00	\$1,200.00	\$169,200.00	\$1,200.00	\$169,200.00
33 S	604	Manhole, Type C, per AA-S102 with open grate	28	EA	\$1,900.00	\$53,200.00	\$2,050.00	\$57,400.00	\$2,500.00	\$70,000.00	\$1,500.00	\$42,000.00	\$2,200.00	\$61,600.00	\$1,500.00	\$42,000.00
34 S	604	Manhole, Type C, per AA-S102 with solid lid (Sanitary)	2	EA	\$4,000.00	\$8,000.00	\$2,068.00	\$4,136.00	\$3,500.00	\$7,000.00	\$2,500.00	\$5,000.00	\$4,000.00	\$8,000.00	\$2,300.00	\$4,600.00
35 S	604	Catch Basin ODOT CB 2-2A	1	EA	\$2,000.00	\$2,000.00	\$1,337.00	\$1,337.00	\$1,050.00	\$1,050.00	\$1,000.00	\$1,000.00	\$800.00	\$800.00	\$1,000.00	\$1,000.00
36 S 37 S	604 604	Catch Basin ODOT CB 2-3 Catch Basin ODOT CB 2-4	6	EA EA	\$3,500.00 \$5,000.00	\$21,000.00 \$15,000.00	\$1,431.00 \$1,803.00	\$8,586.00 \$5,409.00	\$1,450.00 \$1,600.00	\$8,700.00 \$4,800.00	\$1,500.00 \$1,250.00	\$9,000.00 \$3,750.00	\$1,800.00 \$1,800.00	\$10,800.00 \$5,400.00	\$1,300.00 \$1,450.00	\$7,800.00 \$4,350.00
38 S	604	Catch Basin ODOT CB 2-4 Catch Basin ODOT CB No. 8	2	EA	\$5,000.00	\$10,000.00	\$1,857.00	\$3,714.00	\$2,800.00	\$5,600.00	\$3,000.00	\$6,000.00	\$3,000.00	\$6,000.00	\$2,450.00	\$4,900.00
39 S	606	Guardrail Rebuilt, Type 4	170	LF	\$30.00	\$5,100.00	\$14.00	\$2,380.00	\$20.00	\$3,400.00	\$20.00	\$3,400.00	\$15.00	\$2,550.00	\$20.00	\$3,400.00
40 S		Maintaining Traffic	1	LS	\$25,000.00	\$25,000.00	\$15,000.00	\$15,000.00	\$30,000.00	\$30,000.00	\$25,000.00	\$25,000.00	\$10,000.00	\$10,000.00	\$12,000.00	\$12,000.00
41 S 42 S	616 616	Water (Dust Control) Calcium Chloride (Dust Control)	2	M GAL TON	\$150.00 \$350.00	\$300.00 \$700.00	\$50.00 \$280.00	\$100.00 \$560.00	\$60.00 \$400.00	\$120.00 \$800.00	\$45.00 \$300.00	\$90.00 \$600.00	\$50.00 \$750.00	\$100.00 \$1,500.00	\$50.00 \$400.00	\$100.00 \$800.00
43 S	619	Field Office, Type A	1	LS	\$15,000.00	\$15,000.00	\$24,000.00	\$24,000.00	\$10,000.00	\$10,000.00	\$30,000.00	\$30,000.00	\$20,000.00	\$20,000.00	\$1,500.00	\$1,500.00
44 S	623	Construction Layout Stakes	1	LS	\$10,000.00	\$10,000.00	\$21,640.00	\$21,640.00	\$38,000.00	\$38,000.00	\$30,000.00	\$30,000.00	\$20,000.00	\$20,000.00	\$16,000.00	\$16,000.00
45 S	624	Mobilization	1	LS	\$70,000.00	\$70,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$50,000.00	\$50,000.00	\$65,000.00	\$65,000.00	\$85,000.00	\$85,000.00
46 S 47 S		Topsoil Furnished and Placed (As directed)	1,249 14,994	CY SY	\$45.00 \$1.00	\$56,205.00 \$14,994.00	\$34.90 \$0.60	\$43,590.10 \$8,996.40	\$20.00 \$0.65	\$24,980.00 \$9,746.10	\$7.25 \$0.70	\$9,055.25 \$10,495.80	\$35.00 \$1.70	\$43,715.00 \$25,489.80	\$11.00 \$0.50	\$13,739.00 \$7,497.00
4/ S 48 S		Seed and Mulching Commerical Fertilizer	14,994	TON	\$1.00 \$250.00	\$14,994.00 \$250.00	\$668.00	\$8,996.40 \$668.00	\$0.65	\$9,746.10 \$400.00	\$0.70	\$10,495.80 \$875.00	\$1.70	\$25,489.80 \$880.00	\$0.50	\$7,497.00 \$500.00
49 S	007	Agricultural Liming	7	TON	\$200.00	\$1,400.00	\$10.30	\$72.10	\$20.00	\$140.00	\$148.00	\$1,036.00	\$110.00	\$770.00	\$40.00	\$280.00
50 S	659	Water (Seeding)	16	M GAL	\$30.00	\$480.00	\$30.80	\$492.80	\$60.00	\$960.00	\$77.00	\$1,232.00	\$56.00	\$896.00	\$30.00	\$480.00
51 S	807	Existing Service Boxes Adjusted to Grade	95	EA	\$150.00	\$14,250.00	\$57.60	\$5,472.00	\$90.00	\$8,550.00	\$105.00	\$9,975.00	\$75.00	\$7,125.00	\$55.00	\$5,225.00
52 S	807	Existing Valve Boxes Adjusted to Grade (As directed)	11	EA	\$200.00	\$2,200.00	\$57.30	\$630.30	\$180.00	\$1,980.00	\$210.00	\$2,310.00	\$150.00	\$1,650.00	\$215.00	\$2,365.00
53 S	808	Lower 6" Water Line, per L-7401 (As directed)	7	EA	\$4,000.00	\$28,000.00	\$1,000.00	\$7,000.00	\$4,500.00	\$31,500.00	\$5,800.00	\$40,600.00	\$500.00	\$3,500.00	\$2,000.00	\$14,000.00
54 S	808	Lower 8" Water Line, per L-7401 (As directed)	1	EA	\$5,000.00	\$5,000.00	\$1,200.00	\$1,200.00	\$4,800.00	\$4,800.00	\$5,650.00	\$5,650.00	\$750.00	\$750.00	\$2,500.00	\$2,500.00
55 S		Remove and reinstall Fire Hydrant	2	EA	\$2,000.00	\$4,000.00	\$581.00	\$1,162.00	\$1,200.00	\$2,400.00	\$665.00	\$1,330.00	\$600.00	\$1,200.00	\$1,000.00	\$2,000.00
56 S	816	New Curb Box (as directed)	5	EA	\$150.00	\$750.00	\$34.40	\$172.00	\$90.00	\$450.00	\$26.00	\$130.00	\$50.00	\$250.00	\$60.00	\$300.00

Project Name/CIP#: 610973-100000 Idlewild Drive SSI & 690236-100008 Idlewild Drive WL Imp. Bid Date: June 29, 2011															
ORD#: 1250-2011					•		d: Nickolas Savko	& Sons, Inc.							
Ref. Item					R'S ESTIMATE		rvko & Sons		te General		rge Igel		excavating		mo & Sons
No. No.	Description 3/4" Water Service Tap Relocated per Detail B/	Qty.	Unit	Price	Amount	Price	Amount								
57 S 816M	Sheet 28 (As directed) 1" Water Service Tap Relocated per Detail B/ Sheet	29	EA	\$900.00	\$26,100.00	\$359.00	\$10,411.00	\$1,650.00	\$47,850.00	\$1,065.00	\$30,885.00	\$250.00	\$7,250.00	\$1,000.00	\$29,000.00
58 S 816M	28 (As directed) 1-1/2" Water Service Tap Relocated per Detail B/	1	EA	\$1,400.00	\$1,400.00	\$348.00	\$348.00	\$2,000.00	\$2,000.00	\$1,321.00	\$1,321.00	\$300.00	\$300.00	\$1,200.00	\$1,200.00
59 S 816M	Sheet 28 (As directed)	1	EA	\$1,600.00	\$1,600.00	\$395.00	\$395.00	\$2,300.00	\$2,300.00	\$1,564.00	\$1,564.00	\$500.00	\$500.00	\$1,500.00	\$1,500.00
60 S 816M	2" Water Service Tap Relocated per Detail B/ Sheet 28 (As directed)	1	EA	\$2,000.00	\$2,000.00	\$503.00	\$503.00	\$2,700.00	\$2,700.00	\$1,874.00	\$1,874.00	\$700.00	\$700.00	\$2,000.00	\$2,000.00
61 S 901	8" Pipe with Type I Bedding (Sanitary Sewer) 8" Pipe with Type I Bedding, including Item 912	187	LF	\$60.00	\$11,220.00	\$43.00	\$8,041.00	\$60.00	\$11,220.00	\$65.00	\$12,155.00	\$100.00	\$18,700.00	\$110.00	\$20,570.00
62 S 901	Backfill (Sanitary Sewer)	70	LF	\$75.00	\$5,250.00	\$96.00	\$6,720.00	\$120.00	\$8,400.00	\$120.00	\$8,400.00	\$120.00	\$8,400.00	\$225.00	\$15,750.00
63 S 901	12" Pipe with Type I Bedding (Storm Sewer)	3,123	LF	\$45.00	\$140,535.00	\$38.00	\$118,674.00	\$45.00	\$140,535.00	\$42.50	\$132,727.50	\$45.00	\$140,535.00	\$63.00	\$196,749.00
64 S 901	12" Pipe with Type I Bedding, including Item 912 Backfill (Storm Sewer)	1590	LF	\$65.00	\$103,350.00	\$55.00	\$87,450.00	\$63.00	\$100,170.00	\$65.00	\$103,350.00	\$50.00	\$79,500.00	\$87.00	\$138,330.00
65 S 901	12" Pressure Pipe with Type I Bedding (Storm Sewer)	1,776	LF	\$60.00	\$106,560.00	\$48.00	\$85,248.00	\$56.00	\$99,456.00	\$55.00	\$97,680.00	\$50.00	\$88,800.00	\$74.00	\$131,424.00
66 S 901	12" Pressure Pipe with Type I Bedding, Including Item 912 Backfill (Storm Sewer)	895	LF	\$90.00	\$80,550.00	\$65.00	\$58,175.00	\$74.00	\$66,230.00	\$75.00	\$67,125.00	\$60.00	\$53,700.00	\$102.00	\$91,290.00
67 S 901	15" Pipe with Type I Bedding (Storm Sewer)	624	LF	\$55.00	\$34,320.00	\$43.60	\$27,206.40	\$46.00	\$28,704.00	\$50.00	\$31,200.00	\$50.00	\$31,200.00	\$68.00	\$42,432.00
68 S 901	15" Pipe with Type I Bedding, including Item 912 Backfill (Storm Sewer)	175	LF	\$65.00	\$11,375.00	\$59.00	\$10,325.00	\$68.00	\$11,900.00	\$70.00	\$12,250.00	\$55.00	\$9,625.00	\$104.00	\$18,200.00
69 S 901	16" Pressure Pipe with Type I Bedding (Storm Sewer)	449	LF	\$80.00	\$35,920.00	\$68.00	\$30,532.00	\$70.00	\$31,430.00	\$65.00	\$29,185.00	\$75.00	\$33,675.00	\$95.00	\$42,655.00
69.1 S 901	16" Pressure Pipe with Type I Bedding, including Item 912 Backfill (Storm Sewer)	130	LF	\$95.00	\$12,350.00	\$85.00	\$11,050.00	\$85.00	\$11,050.00	\$95.00	\$12,350.00	\$80.00	\$10,400.00	\$131.00	\$17,030.00
70 S 901	18" Pipe with Type I Bedding (Storm Sewer)	967	LF	\$65.00	\$62,855.00	\$43.00	\$41,581.00	\$53.00	\$51,251.00	\$46.00	\$44,482.00	\$60.00	\$58,020.00	\$71.00	\$68,657.00
70.1 S 901	18" Pipe with Type I Bedding, including Item 912 Backfill (Storm Sewer)	300	LF	\$75.00	\$22,500.00	\$62.00	\$18,600.00	\$72.00	\$21,600.00	\$70.00	\$21,000.00	\$65.00	\$19,500.00	\$109.00	\$32,700.00
71 S 901	18" Pressure Pipe with Type I Bedding (Storm Sewer)	447	LF	\$95.00	\$42,465.00	\$74.00	\$33,078.00	\$78.00	\$34,866.00	\$70.00	\$31,290.00	\$85.00	\$37,995.00	\$103.00	\$46,041.00
72 S 901	18" Pressure Pipe with Type I Bedding, including Item 912 Backfill (Storm Sewer)	95	LF	\$80.00	\$7,600.00	\$90.00	\$8,550.00	\$95.00	\$9,025.00	\$100.00	\$9,500.00	\$95.00	\$9,025.00	\$148.00	\$14,060.00
73 S 901	24" Pipe with Type I Bedding (Storm Sewer)	1,346	LF	\$73.00	\$98,258.00	\$52.00	\$69,992.00	\$63.00	\$84,798.00	\$70.00	\$94,220.00	\$80.00	\$107,680.00	\$81.00	\$109,026.00
74 S 901	24" Pipe with Type I Bedding, including Item 912 Backfill (Storm Sewer)	240	LF	\$85.00	\$20,400.00	\$68.00	\$16,320.00	\$80.00	\$19,200.00	\$76.00	\$18,240.00	\$85.00	\$20,400.00	\$133.00	\$31,920.00
75 S 901	24" Pressure Pipe with Type I Bedding (Storm Sewer)	270	LF	\$115.00	\$31,050.00	\$110.00	\$29,700.00	\$125.00	\$33,750.00	\$112.00	\$30,240.00	\$135.00	\$36,450.00	\$164.00	\$44,280.00
76 S 901	24" Pressure Pipe with Type I Bedding, including Item 912 Backfill (Storm Sewer)	100	LF	\$135.00	\$13,500.00	\$120.00	\$12,000.00	\$80.00	\$8,000.00	\$155.00	\$15,500.00	\$145.00	\$14,500.00	\$215.00	\$21,500.00
77 S 901	30" Pipe with Type I Bedding (Storm Sewer)	40	LF	\$110.00	\$4,400.00	\$65.00	\$2,600.00	\$82.00	\$3,280.00	\$80.00	\$3,200.00	\$100.00	\$4,000.00	\$120.00	\$4,800.00
78 S 901	19" x 30" HEP with Type I Bedding (Storm Sewer)	363	LF	\$125.00	\$45,375.00	\$78.00	\$28,314.00	\$90.00	\$32,670.00	\$75.00	\$27,225.00	\$120.00	\$43,560.00	\$83.00	\$30,129.00
79 S 901	19" x 30" HEP with Type I Bedding, including Item 912 Backfill (Storm Sewer)	170	LF	\$140.00	\$23,800.00	\$85.00	\$14,450.00	\$95.00	\$16,150.00	\$77.00	\$13,090.00	\$130.00	\$22,100.00	\$126.00	\$21,420.00
80 S 901	22" x 34" HEP with Type I Bedding (Storm Sewer)	112	LF	\$150.00	\$16,800.00	\$82.00	\$9,184.00	\$98.00	\$10,976.00	\$96.00	\$10,752.00	\$120.00	\$13,440.00	\$106.00	\$11,872.00
81 S 901	24" x 38" HEP with Type I Bedding (Storm Sewer)	635	LF	\$180.00	\$114,300.00	\$81.00	\$51,435.00	\$102.00	\$64,770.00	\$100.00	\$63,500.00	\$140.00	\$88,900.00	\$96.00	\$60,960.00
82 S 902	Increased or Decreased Earth Excavation	20	CY	\$30.00	\$600.00	\$11.30	\$226.00	\$40.00	\$800.00	\$46.00	\$920.00	\$15.00	\$300.00	\$60.00	\$1,200.00
83 S 906	`	20	CY	\$40.00	\$800.00	\$38.00	\$760.00	\$40.00	\$800.00	\$34.50	\$690.00	\$15.00	\$300.00	\$40.00	\$800.00
84 S 910 85 S 910	Concrete Encasement of 8" Pipe Concrete Encasement of 12" Pipe	30 63	LF LF	\$10.00 \$15.00	\$300.00 \$945.00	\$10.10 \$10.10	\$303.00 \$636.30	\$11.00 \$11.00	\$330.00 \$693.00	\$11.00 \$12.00	\$330.00 \$756.00	\$200.00 \$32.00	\$6,000.00 \$2,016.00	\$10.00 \$11.00	\$300.00 \$693.00
	Concrete Encasement of 12" Pipe Concrete Encasement of 15" Pipe	36	LF	\$20.00	\$945.00 \$720.00	\$10.10	\$381.60	\$13.00	\$468.00	\$12.00 \$14.00	\$504.00	\$35.00	\$2,016.00	\$11.00	\$468.00
	Concrete Encasement of 18" Pipe	68	LF	\$25.00	\$1,700.00	\$13.60	\$924.80	\$15.00	\$1,020.00	\$16.00	\$1,088.00	\$45.00	\$3,060.00	\$16.00	\$1,088.00
	Concrete Encasement of 24" Pipe	299	LF	\$30.00	\$8,970.00	\$20.20	\$6,039.80	\$18.00	\$5,382.00	\$22.00	\$6,578.00	\$55.00	\$16,445.00	\$19.00	\$5,681.00
89 S 910	Concrete Encasement of 19"x 30" HEP	83	LF	\$40.00	\$3,320.00	\$20.20	\$1,676.60	\$20.00	\$1,660.00	\$22.00	\$1,826.00	\$90.00	\$7,470.00	\$23.00	\$1,909.00
	Concrete Encasement of 22"x 34" HEP	106	LF	\$50.00	\$5,300.00	\$36.60	\$3,879.60	\$22.00	\$2,332.00	\$30.00	\$3,180.00	\$100.00	\$10,600.00	\$35.00	\$3,710.00
91 S 910	Concrete Encasement of 24"x 38" HEP	507	LF	\$50.00	\$25,350.00	\$36.60	\$18,556.20	\$23.00	\$11,661.00	\$35.00	\$17,745.00	\$100.00	\$50,700.00	\$36.00	\$18,252.00
92 S 913 93 S 918	Channel Improvements, Unpaved Sanitary House Service Relocation, per General Note 39, Sheet 2	1,509	LF EA	\$35.00 \$1,500.00	\$52,815.00 \$15,000.00	\$32.20 \$1,510.00	\$48,589.80 \$15,100.00	\$20.00 \$2,500.00	\$30,180.00 \$25,000.00	\$45.00 \$2,075.00	\$67,905.00 \$20,750.00	\$20.00 \$1,500.00	\$30,180.00 \$15,000.00	\$62.00 \$700.00	\$93,558.00 \$7,000.00
94 S 918	Sanitary House Service Transferred, per Coded Note 12, Sheet 10	10	EA	\$500.00	\$5,000.00	\$1,510.00	\$15,100.00	\$750.00	\$7,500.00	\$600.00	\$6,000.00	\$900.00	\$9,000.00	\$1,000.00	\$10,000.00
95 S SPEC	Project Identification Signs	3	EA	\$1,200.00	\$3,600.00	\$760.00	\$2,280.00	\$700.00	\$2,100.00	\$1,000.00	\$3,000.00	\$500.00	\$1,500.00	\$500.00	\$1,500.00
96 S SPEC	Expose Gas Service prior to construction, per coded note 6	49	EA	\$250.00	\$12,250.00	\$139.00	\$6,811.00	\$320.00	\$15,680.00	\$325.00	\$15,925.00	\$100.00	\$4,900.00	\$125.00	\$6,125.00

Project Na	me/CIP#: 610973-100000 Idlewild Drive SSI	& 6902	36-1000	008 Idlewild Drive	· WI . Imn	Bid Date: June	29 2011								
ORD#: 1250-2011		0,02	30 1000	Joo lale wild Dilve	WE Imp.		d: Nickolas Savko	& Sons, Inc.							
Ref. Item				FNCINFE	R'S ESTIMATE		avko & Sons		te General	Cen	rge Igel	Flite F	excavating	John Fre	mo & Sons
No. No.	Description	Qty.	Unit	Price	Amount	Price	Amount	Price	Amount	Price	Amount	Price	Amount	Price	Amount
97 S SPEC	Drive Pipe Treatment per General Note 28, Sheet 2.	34	EA	\$500.00	\$17,000.00	\$100.00	\$3,400.00	\$200.00	\$6,800.00	\$10.00	\$340.00	\$200.00	\$6,800.00	\$75.00	\$2,550.00
98 S SPEC	Support Electric Poles per General Note 37 & 38, Sheet 2	4	EA	\$300.00	\$1,200.00	\$396.00	\$1,584.00	\$500.00	\$2,000.00	\$1,350.00	\$5,400.00	\$750.00	\$3,000.00	\$100.00	\$400.00
99 S SPEC		1	LS	\$15,000.00	\$15,000.00	\$7,838.00	\$7,838.00	\$7,500.00	\$7,500.00	\$20,000.00	\$20,000.00	\$10,000.00	\$10,000.00	\$7,500.00	\$7,500.00
100 S SPEC	Metal Fence (Removed and reinstalled as per plan)	580	LF	\$15.00	\$8,700.00	\$40.00	\$23,200.00	\$35.00	\$20,300.00	\$20.00	\$11,600.00	\$37.00	\$21,460.00	\$18.00	\$10,440.00
101 S SPEC	Wooden Fence (Removed and reinstalled as per plan)	95	LF	\$20.00	\$1,900.00	\$54.00	\$5,130.00	\$25.00	\$2,375.00	\$60.00	\$5,700.00	\$51.00	\$4,845.00	\$56.00	\$5,320.00
102 S SPEC	Temporary orange plastic Construction Fence	470	LF	\$10.00	\$4,700.00	\$3.50	\$1,645.00	\$4.00	\$1,880.00	\$3.00	\$1,410.00	\$5.00	\$2,350.00	\$4.00	\$1,880.00
103 S SPEC	Anti Infiltration and Inflow Barrier per Detail A/ Sheet 13.	154	EA	\$350.00	\$53,900.00	\$50.00	\$7,700.00	\$240.00	\$36,960.00	\$8.00	\$1,232.00	\$300.00	\$46,200.00	\$60.00	\$9,240.00
104 S SPEC	Grade Rings per General Note 21	20	EA	\$300.00	\$6,000.00	\$150.00	\$3,000.00	\$250.00	\$5,000.00	\$20.00	\$400.00	\$25.00	\$500.00	\$200.00	\$4,000.00
105 S SPEC 106 S SPEC	Linear Ditch Grading per Detail C/ Sheet 28 Temporary Construction Fence (As directed)	8,000 500	LF LF	\$5.00 \$10.00	\$40,000.00 \$5,000.00	\$9.60 \$5.30	\$76,800.00 \$2,650.00	\$6.00 \$4.00	\$48,000.00 \$2,000.00	\$3.50 \$3.00	\$28,000.00 \$1,500.00	\$3.00 \$5.00	\$24,000.00 \$2,500.00	\$5.00 \$4.00	\$40,000.00 \$2,000.00
107 S SPEC	6" channel substrate and 18" cobble stone infill at	1	LS	\$10,000.00	\$10,000.00	\$2,715.00	\$2,715.00	\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$12,500.00	\$12,500.00
108 S SPEC	new box culverts Outlet Structure Basin "A"	1	LS	\$10,000.00	\$10,000.00	\$6,800.00	\$6,800.00	\$9,500.00	\$9,500.00	\$15,000.00	\$15,000.00	\$7,000.00	\$7,000.00	\$12,000.00	\$12,000.00
109 S SPEC		1	LS	\$5,000.00	\$5,000.00	\$29,000.00	\$29,000.00	\$35,000.00	\$35,000.00	\$60,000.00	\$60,000.00	\$35,000.00	\$35,000.00	\$48,000.00	\$48,000.00
110 S SPEC	Sealing of Concrete Surfaces	1	LS	\$5,000.00	\$5,000.00	\$510.00	\$510.00	\$1,800.00	\$1,800.00	\$100.00	\$100.00	\$2,000.00	\$2,000.00	\$2,500.00	\$2,500.00
	Stream Restoration Plantings, per Sheet 29	1	LS	\$5,000.00	\$5,000.00	\$4,500.00	\$4,500.00	\$4,338.00	\$4,338.00	\$4,340.00	\$4,340.00	\$3,800.00	\$3,800.00	\$3,009.00	\$3,009.00
112 S SPEC		1	LS	\$5,000.00	\$5,000.00	\$514.00	\$514.00	\$7,000.00	\$7,000.00	\$10.00	\$10.00	\$500.00	\$500.00	\$1.00	\$1.00
113 S SPEC 114 S SPEC	Wetland Basin Plantings, per Sheet 42 Riparian Area Seeding	1.1	LS AC	\$10,000.00 \$4,400.00	\$10,000.00 \$4,840.00	\$514.00 \$4,784.00	\$514.00 \$5,262.40	\$7,000.00 \$4,657.00	\$7,000.00 \$5,122.70	\$10.00 \$4,660.00	\$10.00 \$5,126.00	\$500.00 \$5,400.00	\$500.00 \$5,940.00	\$1.00 \$2,700.00	\$1.00 \$2,970.00
114 S SPEC		2.2	AC	\$3,100.00	\$6,820.00	\$2,582.00	\$5,680.40	\$2,513.00	\$5,528.60	\$2,520.00	\$5,544.00	\$5,400.00	\$11,880.00	\$1,950.00	\$4,290.00
116 S SPEC	0"-6" Water Zone Seeding	2.4	AC	\$3,500.00	\$8,400.00	\$1,845.00	\$4,428.00	\$1,796.00	\$4,310.40	\$1,800.00	\$4,320.00	\$5,400.00	\$12,960.00	\$1,125.00	\$2,700.00
117 S SPEC	6-18" Water Zone Seeding	0.9	AC	\$3,500.00	\$3,150.00	\$2,439.00	\$2,195.10	\$2,374.00	\$2,136.60	\$2,400.00	\$2,160.00	\$5,400.00	\$4,860.00	\$2,350.00	\$2,115.00
	Riparian Area Trees and Shrubs	240	EA	\$30.00	\$7,200.00	\$29.00	\$6,960.00	\$28.40	\$6,816.00	\$29.00	\$6,960.00	\$31.00	\$7,440.00	\$28.00	\$6,720.00
119 S SPEC	0"-6" Water Zone Trees and Shrubs	469	EA	\$30.00	\$14,070.00	\$29.00	\$13,601.00	\$27.80	\$13,038.20	\$28.00	\$13,132.00	\$31.00	\$14,539.00	\$28.00	\$13,132.00
120 S SPEC		190	EA	\$30.00	\$5,700.00	\$29.00	\$5,510.00	\$27.70	\$5,263.00	\$28.00	\$5,320.00	\$34.00	\$6,460.00	\$28.00	\$5,320.00
121 S SPEC 122 S SPEC	Riparian Area Plugs 0"-6" Water Zone Plugs	1,512 2,936	EA EA	\$4.00 \$4.00	\$6,048.00 \$11,744.00	\$3.00 \$2.80	\$4,536.00 \$8,220.80	\$2.88 \$2.71	\$4,354.56 \$7,956.56	\$3.00 \$3.00	\$4,536.00 \$8,808.00	\$3.50 \$3.50	\$5,292.00 \$10,276.00	\$3.00 \$3.00	\$4,536.00 \$8,808.00
122 S SPEC 123 S SPEC		1,176	EA	\$4.00	\$4,704.00	\$3.60	\$4,233.60	\$3.53	\$4,151.28	\$3.50	\$4,116.00	\$5.00	\$5,880.00	\$3.00	\$3,528.00
	Firm Seed Bed, as per Sheet 43	6.5	AC	\$5,000.00	\$32,500.00	\$300.00	\$1,950.00	\$293.00	\$1,904.50	\$300.00	\$1,950.00	\$200.00	\$1,300.00	\$3,050.00	\$19,825.00
125 S SPEC		1	LS	\$5,000.00	\$5,000.00	\$2,100.00	\$2,100.00	\$2,025.00	\$2,025.00	\$2,100.00	\$2,100.00	\$800.00	\$800.00	\$1,850.00	\$1,850.00
126 S SPEC	Tree and Shrub Maintenance, as per Sheet 44	1	LS	\$5,000.00	\$5,000.00	\$3,250.00	\$3,250.00	\$3,160.00	\$3,160.00	\$3,200.00	\$3,200.00	\$8,200.00	\$8,200.00	\$4,900.00	\$4,900.00
127 S SPEC	8	1	LS	\$5,000.00	\$5,000.00	\$7,350.00	\$7,350.00	\$7,160.00	\$7,160.00	\$7,200.00	\$7,200.00	\$1,200.00	\$1,200.00	\$4,600.00	\$4,600.00
128 S SPEC	Wetland Plug Guarantee, as per Sheet 45	1	LS	\$5,000.00	\$5,000.00	\$1,900.00	\$1,900.00	\$1,883.00	\$1,883.00	\$1,900.00	\$1,900.00	\$1,500.00	\$1,500.00	\$1,550.00	\$1,550.00
129 S SPEC	Wetland Plug Maintenance, as per Sheet 45	1	LS	\$5,000.00	\$5,000.00	\$7,500.00	\$7,500.00	\$7,260.00	\$7,260.00	\$7,300.00	\$7,300.00	\$12,800.00	\$12,800.00	\$8,200.00	\$8,200.00
130 S SPEC	Stockpiling of topsoil from Wetland Basin, as per Sheet 43	5,452	CY	\$2.00	\$10,904.00	\$2.60	\$14,175.20	\$3.00	\$16,356.00	\$5.00	\$27,260.00	\$3.00	\$16,356.00	\$6.75	\$36,801.00
131 S SPEC	Finish Grading for Wetland Plug Areas, as per Sheet 45	4.3	AC	\$5,000.00	\$21,500.00	\$3,315.00	\$14,254.50	\$5,500.00	\$23,650.00	\$3,400.00	\$14,620.00	\$5,000.00	\$21,500.00	\$3,200.00	\$13,760.00
132 S SPEC		3,035	LF	\$5.00	\$15,175.00	\$2.40	\$7,284.00	\$2.35	\$7,132.25	\$2.00	\$6,070.00	\$5.00	\$15,175.00	\$1.60	\$4,856.00
133 S SPEC	"Do Not Mow, Do Not Spray" Sign, as per Sheet 45	10	EA	\$50.00	\$500.00	\$98.60	\$986.00	\$96.00	\$960.00	\$100.00	\$1,000.00	\$250.00	\$2,500.00	\$180.00	\$1,800.00
134 S SPEC	Basin Maintenance/ Access Path, as per Detail A/ Sheet 32	13,250	SF	\$1.00	\$13,250.00	\$1.10	\$14,575.00	\$2.50	\$33,125.00	\$2.00	\$26,500.00	\$3.00	\$39,750.00	\$1.50	\$19,875.00
135 S SPEC	Steel Pipe Gate, as per Details A & B/ Sheet 22	1	EA	\$1,000.00	\$1,000.00	\$5,983.00	\$5,983.00	\$7,500.00	\$7,500.00	\$6,500.00	\$6,500.00	\$8,000.00	\$8,000.00	\$6,000.00	\$6,000.00
136 S SPEC	Maintaining Sanitary Sewer Service, as per General Note 62	1	LS	\$10,000.00	\$10,000.00	\$2,260.00	\$2,260.00	\$1,500.00	\$1,500.00	\$30,000.00	\$30,000.00	\$5,000.00	\$5,000.00	\$1,500.00	\$1,500.00
137S SPEC	Armortech Plugs, per Sheet 46/49	2,415	EA	\$4.00	\$9,660.00	\$3.70	\$8,935.50	\$3.56	\$8,597.40	\$2.50	\$6,037.50	\$5.00	\$12,075.00	\$3.00	\$7,245.00
138S SPEC	Stabilized forebay, including Armotech Armorlo 5011 concrete blocks, per Sheet 33/69	1	LS	\$18,000.00	\$18,000.00	\$29,240.00	\$29,240.00	\$45,000.00	\$45,000.00	\$35,000.00	\$35,000.00	\$40,000.00	\$40,000.00	\$30,000.00	\$30,000.00
	WATER LINE IMPROVEMENTS														
200 W 252	Permanent Pavement Replacement as per 1441, Dr. A, Type I	7	CY	\$380.00	\$2,660.00	\$373.00	\$2,611.00	\$550.00	\$3,850.00	\$600.00	\$4,200.00	\$860.00	\$6,020.00	\$900.00	\$6,300.00
201 W 252	Driveway Pavement Replacement as per 2160, Dr. A., Type III-A (Residential)	7	CY	\$350.00	\$2,450.00	\$1,270.00	\$8,890.00	\$165.00	\$1,155.00	\$1,300.00	\$9,100.00	\$220.00	\$1,540.00	\$300.00	\$2,100.00
202 W 252	Driveway Pavement Replacement as per 2160, Dr. A., Type III-B (Residential)	1	CY	\$400.00	\$400.00	\$385.00	\$385.00	\$450.00	\$450.00	\$1,100.00	\$1,100.00	\$450.00	\$450.00	\$750.00	\$750.00
203 W 252	Driveway Pavement Replacement as per 2160, Dr. A., Type III-C (Residential)	90	CY	\$60.00	\$5,400.00	\$43.00	\$3,870.00	\$50.00	\$4,500.00	\$65.00	\$5,850.00	\$50.00	\$4,500.00	\$30.00	\$2,700.00
204 W 252	Permanent Pavement Replacement as per 1441, Dr. A, Without Heat Weld	176	CY	\$340.00	\$59,840.00	\$297.00	\$52,272.00	\$400.00	\$70,400.00	\$550.00	\$96,800.00	\$450.00	\$79,200.00	\$275.00	\$48,400.00
205 W 253 206 W 254	Temporary Pavement Replacement Pavement Planing	725 7,506	SY SY	\$20.00 \$3.00	\$14,500.00 \$22,518.00	\$13.40 \$2.20	\$9,715.00 \$16,513.20	\$8.00 \$2.00	\$5,800.00 \$15,012.00	\$47.00 \$2.50	\$34,075.00 \$18,765.00	\$10.00 \$2.50	\$7,250.00 \$18,765.00	\$1.00 \$2.00	\$725.00 \$15,012.00
			-	•							•			•	

Proje	ect Na	me/CIP#: 610973-100000 Idlewild Drive SSI &	& 6902	36-1000	08 Idlewild Drive	WL Imp.	Bid Date: June	29, 2011								
ORD#: 1250-2011						•	Contract Awar	d: Nickolas Savko	& Sons, Inc.							
Ref.	Item No.	Description	0	Unit	ENGINEER'S ESTIMATE Price Amount		Nickolas Savko & Sons Price Amount		Complete General Price Amount		Geo Price	rge Igel	Elite Excavating		John Eramo & Sons Price Amount	
No.			Qty. 524	TON						Amount		Amount	Price	Amount		
207 W		Asphalt Concrete			\$100.00 \$2.00	\$52,400.00	\$88.40 \$2.10	\$46,321.60	\$90.00 \$2.20	\$47,160.00	\$94.00 \$2.25	\$49,256.00	\$90.00 \$2.50	\$47,160.00	\$88.00 \$2.00	\$46,112.00
208 W		Tack Coat	1,126	GAL		\$2,252.00		\$2,364.60		\$2,477.20		\$2,533.50		\$2,815.00		\$2,252.00
209 W		Crack Seal	512	LF	\$3.00	\$1,536.00	\$2.10	\$1,075.20	\$1.50 \$8,500.00	\$768.00	\$2.25	\$1,152.00	\$4.50 \$10,000.00	\$2,304.00	\$2.00	\$1,024.00
210 W 211 W		Maintaining Traffic	6,937	LS LF	\$10,000.00 \$95.00	\$10,000.00	\$1,500.00	\$1,500.00	\$8,500.00	\$8,500.00	\$15,000.00 \$58.00	\$15,000.00 \$402,346.00	\$10,000.00	\$10,000.00 \$707,574.00	\$13,000.00 \$95.00	\$13,000.00
211 W	801	6" Ductile Iron Water Pipe and Fittings, CL 53	6,937	LF	\$95.00	\$659,015.00	\$67.00	\$464,779.00	\$70.00	\$485,590.00	\$58.00	\$402,346.00	\$102.00	\$707,574.00	\$95.00	\$659,015.00
212 W	801	Concrete Blocking Class C, Increase or decrease	20	CY	\$100.00	\$2,000.00	\$90.00	\$1,800.00	\$95.00	\$1,900.00	\$84.00	\$1,680.00	\$50.00	\$1,000.00	\$100.00	\$2,000.00
213 W			1,200	LBS	\$3.00	\$3,600.00	\$2.25	\$2,700.00	\$2.00	\$2,400.00	\$1.60	\$1,920.00	\$1.00	\$1,200.00	\$1.50	\$1,800.00
214 W	802	6" Valve and Appurtenances	23	EA	\$900.00	\$20,700.00	\$910.00	\$20,930.00	\$850.00	\$19,550.00	\$800.00	\$18,400.00	\$800.00	\$18,400.00	\$750.00	\$17,250.00
215 W	805	3/4" Water Service Tap Transferred (By Boring or Jacking) per detail A or C/ Sheet 5	54	EA	\$1,400.00	\$75,600.00	\$1,350.00	\$72,900.00	\$2,300.00	\$124,200.00	\$1,130.00	\$61,020.00	\$1,100.00	\$59,400.00	\$1,100.00	\$59,400.00
216 W	805	3/4" Water Service Tap Transferred per detail A or C/ Sheet 5	55	EA	\$900.00	\$49,500.00	\$1,090.00	\$59,950.00	\$1,500.00	\$82,500.00	\$1,200.00	\$66,000.00	\$700.00	\$38,500.00	\$750.00	\$41,250.00
217 W	805	Curb Box	104	EA	\$125.00	\$13,000.00	\$34.40	\$3,577.60	\$100.00	\$10,400.00	\$72.00	\$7,488.00	\$20.00	\$2,080.00	\$40.00	\$4,160.00
218 W	806	16" Casing Pipe	76	LF	\$80.00	\$6,080.00	\$608.00	\$46,208.00	\$450.00	\$34,200.00	\$350.00	\$26,600.00	\$85.00	\$6,460.00	\$125.00	\$9,500.00
219 W	807	Cast Iron Ferrule Valve Box and Cover	26	EA	\$150.00	\$3,900.00	\$62.60	\$1,627.60	\$225.00	\$5,850.00	\$147.00	\$3,822.00	\$50.00	\$1,300.00	\$75.00	\$1,950.00
220 W	808	Cut and Plug (Cap) 6 inch Water Line	3	EA	\$1,200.00	\$3,600.00	\$1,172.00	\$3,516.00	\$550.00	\$1,650.00	\$2,000.00	\$6,000.00	\$1,500.00	\$4,500.00	\$1,000.00	\$3,000.00
221 W	809	Fire Hydrant, Type A Setting	14	EA	\$1,600.00	\$22,400.00	\$1,819.00	\$25,466.00	\$3,100.00	\$43,400.00	\$1,800.00	\$25,200.00	\$2,200.00	\$30,800.00	\$2,000.00	\$28,000.00
222 W	809	Fire Hydrant Abandoned	12	EA	\$500.00	\$6,000.00	\$456.00	\$5,472.00	\$400.00	\$4,800.00	\$750.00	\$9,000.00	\$400.00	\$4,800.00	\$350.00	\$4,200.00
223 W	810	6" Hydrant Extension	1	EA	\$400.00	\$400.00	\$143.00	\$143.00	\$470.00	\$470.00	\$280.00	\$280.00	\$50.00	\$50.00	\$350.00	\$350.00
224 W	810	12" Hydrant Extension	1	EA	\$450.00	\$450.00	\$143.00	\$143.00	\$500.00	\$500.00	\$330.00	\$330.00	\$100.00	\$100.00	\$400.00	\$400.00
225 W	810	18" Hydrant Extension	1	EA	\$500.00	\$500.00	\$143.00	\$143.00	\$550.00	\$550.00	\$330.00	\$330.00	\$150.00	\$150.00	\$550.00	\$550.00
226 W	810	24" Hydrant Extension	1	EA	\$600.00	\$600.00	\$143.00	\$143.00	\$620.00	\$620.00	\$390.00	\$390.00	\$200.00	\$200.00	\$600.00	\$600.00
227 W	811	Increase or Decrease in Excavation and Backfill	100	CY	\$30.00	\$3,000.00	\$39.60	\$3,960.00	\$40.00	\$4,000.00	\$46.00	\$4,600.00	\$10.00	\$1,000.00	\$40.00	\$4,000.00
228 W	815	Crushed Stone or Gravel for Temporary Driveway Pavement	75	CY	\$55.00	\$4,125.00	\$25.40	\$1,905.00	\$50.00	\$3,750.00	\$45.00	\$3,375.00	\$25.00	\$1,875.00	\$40.00	\$3,000.00
229 W	918	Sanitary House Service Relocation, per detail B/ Sheet 5	1	EA	\$2,000.00	\$2,000.00	\$1,420.00	\$1,420.00	\$2,500.00	\$2,500.00	\$2,100.00	\$2,100.00	\$1,500.00	\$1,500.00	\$1,000.00	\$1,000.00
230 W	SPEC	Survey Coordinates, per General Note 37, Sheet 3	1	LS	\$5,000.00	\$5,000.00	\$7,000.00	\$7,000.00	\$6,000.00	\$6,000.00	\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
		Storm Improvements:				\$3,153,972.00		\$2,748,190.30		\$3,001,268.15		\$3,106,421.05		\$3,017,504.80		\$3,157,584.00
94 S	SPEC	Storm Improvements Force Account (.20 x Sum of Items 1 through 136)	.20 X (base)			\$630,794.40		\$549,638.06		\$600,253.63		\$621,284.21		\$603,500.96		\$631,516.80
		Stormwater Improvements Total:				\$3,784,766.40		\$3,297,828.36		\$3,601,521.78		\$3,727,705.26		\$3,621,005.76		\$3,789,100.80
		Water Line Improvements:				\$1,055,426.00		\$869,300.80		\$994,902.20		\$888,712.50		\$1,065,893.00		\$984,800.00
95 W	SPEC	Water Line Improvements Force Account (.15 x Sum of Items 200 through 230)	.15 X (base)			\$158,313.90		\$130,395.12		\$149,235.33		\$133,306.88		\$159,883.95		\$147,720.00
		Water Line Improvements:				\$1,213,739.90		\$999,695.92		\$1,144,137.53		\$1,022,019.38		\$1,225,776.95		\$1,132,520.00
L		TOTAL PROJECT COSTS:				\$4,998,506.30		\$4,297,524.28		\$4,745,659.31		\$4,749,724.64		\$4,846,782.71		\$4,921,620.80
		% DIFFERENCE FROM ENGINEER'S ESTIMATE						-14.02%		-5.06%		-4.98%		-3.04%		-1.54%
\vdash		Bond Amount (Page P-33)						\$430,000.00 hio Farmers Insurance		\$475,000.00 Arch Insurance		\$480,000.00 Ohio Farmers	TP	\$4,847,862.71 elers Casualty & Surety		\$500,000.00 Ohio Farmers
\vdash		Bonding Company (Page P-33) Proposal Bond Amount Required					0	\$429,752.43		\$474,565.93		\$474,972.46	Trave	\$484,678.27		\$492,162.08
		Contract Compliance No. (Page P-3a(11))						31-0907362		31-4366382		31-4214570		20-1643186		31-0724866
		Non-Collusion Affidavit Completed? (Page P-32)		1				Yes		Yes		Yes		Yes		Yes
		Local Vendor? (Page P-5)			-			Yes		Yes		Yes		No		Yes
		Addendum Acknowledgement Completed? (Page P-5)						Yes		Yes		Yes		Yes		Yes
		Proposal Affidavit Completed? (Page P-37)						Yes		Yes		Yes		Yes		Yes